$£28E ARVIAMT—AKE

FoRYIT TR a—REBTERLTLEZS,
(BA—H—DDF —LA-HERELTELONTLARITIL—ILTVH2022(5EE T 5H)
{BL., avTLwiariA4ViEa—niLL—ILELTAaV T 214 VEROET,

ABRBFI—Y 6F—LTYF. 6-6814TL—4. /—FFNRVTF—)

— T EE [ (23 Bl | raRa] BE BM
EEB ®ot BX Ry<— 3-6 7-5 6-0(WO) 6-1 4 3-1 2
B RE ET Ry<— 6-3 6-4 1-6 7-6(1) 4 3-1 1
B H— Ry<— 5-7 4-6 6-3 (4)6-7 4 1-3 4
ERK BA Ry<— 0-6(WD) 6-1 3-6 6-0 3 2-1 5
it = JSURRS L 1-6 (1)6-7 7-6(4) 0-6 4 1-3 3
BRBFFTEI—Y 65— LER/—TFF/IT—D)
AY—4
- B LH AE [ ETRa] BR_[IBR
k] EE W JSURRS L 6-1 5-6 6-0 3 2-1 2
e #— A0 1-6 2-6 6-5 3 1-2 3
FAGL X E &R 6-5 6-2 6-2 3 3-0 1
O M= KYM 0-6 5-6 2-6 3 0-3 4
Bl)—%
I — B BB ES BH _[raal BR [EG
EEE FE B 58 4-6 6-3 6-4 3 2-1 2
Zi| RAN B=E &R 6-4 6-3 6-2 3 3-0 1
BRE BA [:58 3-6 3-6 1-6 3 0-3 4
fE5M % Ry<— 4-6 2-6 6-1 3 1-2 3
BRBFREF—F AL (65— LTVTF. 6-6314TL—Y . /—TFFI0T—)
REE—F A 3f
A E —, A E s
e g —° | a:lﬁ_
sR o —, |
NI p—
RUTRFI—Y @5—LER/—TFIUT—)
e ES BA I BA WEH _ [ErRa] BR _ [Em
tErK fEx BG 0-4 4-3 4-2 1-4 4 2-2 3 10.409
Bl #HK g BG 4-0 4-0 4-0 4-2 4 4-0 1
FHE Uhd BG 3-4 0-4 4-3 4-2 2-2 4 10.238
BX =2 BG 2-4 0-4 3-4 0-4 4 0-4 5
@ LB BAE BG 4-1 2-4 2-4 4-0 4 2-2 2 (0545
LBRUTEFI—Y @F—LER/—FET—D)
I & E3N EES 3 BT |xrsa] BHR [Eh
M BAETE BG 1-4 2-4 1-4 3-4 4 0-4 5
Eh| ER ER BG 4-1 4-3 4-1 4-0 4 4-0 1
ER BEA BG 4-2 3-4 2-4 4-0 4 2-2 3
EEE BE BT BG 4-1 1-4 4-2 4-1 4 3-1 2
HT B1E BG 4-3 0-4 0-4 1-4 4 1-3 4

2022.6.26



£28[E ARYVIAMT=-AKE 2022.6.26

FZAYIT TZAYA—REBTEALTEE,
(BA—D—D oS —LA-BRERELTRELNTNAYIRIZIL—ILT VY2022 E T 51)
{BL.a Ty arvi/lEa—aiLiL—iLeLTaV S 24 VERDHET,

ABREZFY—Y (65—LTYF 6-6814TL—%)

T [N A& FATR SEraa] B [IER
B HE 3R R)<— 6-4 6-3 2 2-0 1
EQll & KYM 4-6 6-3 2 1-1 2
We FE 7IEJII7‘-:Z15:’;‘:‘§] 3-6 3-6 2 0-2 3
B#R&F)—4 (65 —LIYF 6-6814TL—%)
— BA FH AR SErae] B |IEs
R BHZE FARLR 4-6 5-7 2 0-2 3
FH BEE FARLR 6-4 3-6 2 1-1 2
| K BT FA4REXR 7-5 6-3 2 2-0 1
1MUTBFIY—Y (65 —LIYF 6-6414TL—7%)
T Ed EH =H SErae] B |IEs
B B RN BG 6-1 6-3 2 2-0 1
=H &F BG 1-6 6-3 2 -1 |2
Z2H A BG 3-6 3-6 2 0-2 |3
LEUTBEFIRY—S @Fr—LER/—FFENAT—Y)
cy)—4
— VAZES O = s SEraa] B |EA
BB 2K HHE MNEKT=RHE 4-0 4-2 4-2 3 3-0 1
B0 K BG 0-4 3-4 0-4 3 0-3 4
EIL| EE ERE  MNEKT=RHe 2-4 4-3 4-1 3 2-1 2
B {26 BG 2-4 4-0 1-4 3 1-2 3
D!)—4
T BT e #:a SETae] B [IE
mEE Kig BG 1-4 41 2 1-1 2
EBE e # BG 4-1 4-0 2 2-0 1
98 BB NEKT=RHBER 1-4 0-4 2 0-2 3
12T BFIERb—F AU (65 —LER/ =TI T—) NEF1~4IET
12078
ErK B — 6
e ow —1°



£28[E ARYVIAMT=-AKE 2022.6.26
3+ 4L
Py —

o KiE —

<.n|cn




